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Traus:ts of4 Veuvs

The +tvausits fol/awikﬂ
2012, Tune § will e

2117, Deccwber 10
2128, Dectuwber §

2241, Tvuell
2255, Juuc ¢
2340, Pecewber il
2369, Vcccmber 10
¢
3818 ,Christuas Jay

Weve the orbits of Vewvs aud the
Earth tu +he Sawme plaue, a Trausit
wovld dccver at CVtr‘Y l.hferl'OP Cm\jvuc'&t'ou.

Howtver, the orbit of Veuvs (s iaclined
to ours at the sSwall, bot Jfﬂu(j-fca.kt'

angle of 3-4°; this is cuovglk  To
eusure tuat trawsits are rarc.

Re preset the orbits of the Earth
and Veuvs by two hooyps, Crossing each
otuer at auw augle of 3-¢) The poiuts
Where the two heops are known as the
hodc s . Ha.(f(a{l tle ovbit of Veuvs is
Nerth of the ovbit of the EGarth and
the other ‘\a.l-F lclow;

Veuvs takes 2247 Ear‘l:&*t(a.-[: te 90
revolue arovad the Suu. For a trausit to
becvr, Veuvs must be at,or very ucar,
a wode, Whew it is between the Earth
and the Sun . Thke ‘Plauc of the orbit of
Vewvs Passcs tl\(ough that of 't‘llc_ Ear tl
twice €achh vear, Jrue & aud Decewlber 1-
Mhis wmeans that a Erawsit Caw occur
only on, o6r very wncar, onc or other of

Flese dates, There 1s a certain
awovnt of leeway, but not wmuck,
beccavse the orbit sf Veuvs s
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heavly cireviar; Ehe cccewtricity (s ouly 0-007,
Whercas tha t of t he orbit Uf the Cavith s o0-017.

It so happeus tuat ciqgut Earth yeavs are very
nearly equal to  tuivtecen Vewus vyears, So tha t after

eight years the two plaucts awd the Sun are in
hearly the same relative positious (the vital
Woyrd here i "hea.rly" ) A trawsit s likely

to be fo llowed by awsther trausit €ight years
later as hap pened in (874 and 1882, But in
(?99,(.”\:»\ the relative positions Were again ncarly
the Sawme | the ““5“"&“‘1 Was no lounger <xact
tnovgh for a FTrauwsit to occuor, and sbservers
had tp wait ?a.{:fmflj for the next Pa.ir)alt«
in 20048 auwd 2012.

To Summarize : At the Present epoch, tramsits
Decvr in paivrs, tach paiv becing Scparated frow
Elhe next by over a ceutbtyry., At ltast a
Lransit of Vewvs is a leisovely affair.

For {x.uiuylc) the tvausit of 2004,Tunc 8
begam at 05: 13 (6 M T) awl ended at 11125,

The first trvawsit predictions weve mad

by Tohawnes kepler. Tn 1621 he finishel What

proved to be  hig las £ WDYICJ a Sct of ncw

awd more accurate tables of planctary

{t
motiows nawmed the Rudolphine Tables ”
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™ howovr a{. ‘u's old Lcuc-fac tor )
Ruo(.:[]ol‘ T;.. F(DIM '&I\.CSC’ t\c. was a.b[c ‘60

e

calculate that both Mecury and Veuvs would
transit £he Sun oluriuj (631, Mccury on

Novew ber T aAud Vewvs ou Deccwbe 6.

kCP‘fv‘ prco{fc{:cd. no movre transits

0f Vewus befove (761 ; apparca €ly,
(aud wmos t SUr Prisi ng (j ) he missecd the
fact that they occur in pairs, Scparate

by tight years,
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